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1.   

       a) Given,  

                  Cost Price = 20 tk 

                       Selling = 25 tk 

                      Profit = (25 – 20) tk. =5 tk 

       We know, 

                     Profit % = 
𝑃𝑟𝑜𝑓𝑖𝑡

𝐶𝑜𝑠𝑡 𝑃𝑟𝑖𝑐𝑒
× 100% 

                                   = 
5

20
× 100% 

                                   = 25 % 

                       Ans: 25 % 

 

         

       b)  Given,  

                         Cost price = 20 tk 

                             Profit % = 10 % 

 

              We know,  

                                 Selling Price = [
(100+𝑃𝑟𝑜𝑓𝑖𝑡%)

100
× 𝐶𝑜𝑠𝑡 𝑝𝑟𝑖𝑐𝑒] 

                                                       = [
(100+10)

100
× 20] tk 

                                                       = (
110×20

100
) tk 

                                                       = 22 tk 

                         Ans: 22 tk 

 



 

 

2.     

          a) Given,  

                        Cost price = 1200 tk 

                            Profit %= 10 %  

               We know,  

                                 Selling Price = [
(100+𝑃𝑟𝑜𝑓𝑖𝑡%)

100
× 𝐶𝑜𝑠𝑡 𝑝𝑟𝑖𝑐𝑒] 

                                                       = [
(100+10)

100
× 1200] tk 

                                                       = (
110×1200

100
) tk 

                                                       = 1320 tk 

                         

                             Ans: 1320 tk 

 

 

b) Given,  

                        Cost price = 1200 tk 

                            Profit %= 15 %  

               We know,  

                                 Selling Price = [
(100+𝑃𝑟𝑜𝑓𝑖𝑡%)

100
× 𝐶𝑜𝑠𝑡 𝑝𝑟𝑖𝑐𝑒] 

                                                       = [
(100+15)

100
× 1200] tk 

                                                       = (
115×1200

100
) tk 

                                                       = 1380 tk 

 

           Selling price will be more = (1380-1320) tk 

                                                     = 60 tk 

 

                         Ans: 60 tk 

 
 


